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QUESTION 1

Which three are valid Terraform configuration components? (Choose three.)
A. variable

B. region

C. metadata

D. instance

E. resource

F. data source

Correct Answer: AEF

QUESTION 2

You are running an online gaming application hosted on a VM.Standard2.1 instance shape in Oracle Cloud
Infrastructure. As the game becomes popular, you identify network throughput as a bottleneck on your
instance when uploading user data.

Though you want to resolve the issue, you want to observe the demand for a week before adding new
application instances.

Which action is the most efficient way to resolve this issue?

A. Add a secondary virtual network interface card (VNIC).

B. Change shape of the instance to a higher network bandwidth instance.

C. Delete the instance while preserving boot volume and spin up a new higher network bandwidth instance with this
boot volume.

D. Change the performance tier of attached block volume to High Performance.

Correct Answer: B

QUESTION 3
You have setup your environment as shown below with the Mount Target "MT" successfully mounted on

both compute instances CLIENT-X and CLIENT-Y.
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For security reasons you want to control the access to the File System A in such a way that CLIENT-X has

READ/WRITE and CLIENT-Y has READ only permission.
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What you should do?

A. Update the OS firewall in CLIENT-X to allow READ/WRITE access.

B. Update the security list TWO to restrict CLIENT-Y access to read-only.

C. Update the mount target export options to restrict CLIENT-Y access to read-only.
D. Update the security list ONE to restrict CLIENT-Y access to read only.

Correct Answer: D
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QUESTION 4

Which three components can you configure in Oracle Infrastructure Identity and Access Management? (Choose three.)
A. Groups

B. Users

C. Instances

D. Policies

E. VCNs

Correct Answer: ABD

References: https://cloud.oracle.com/governance/identity/fag

QUESTION 5

Which three actions are required to configure a highly available and secure hybrid network between Oracle Cloud and
your data center? (Choose three.)

A. Define a non-overlapping IP Address Space between the data center and the cloud.
B. Configure each of the CPEs to leverage each of the IPSec Tunnels created by the connection process.

C. Create two or more CPEs that map to the private IP addresses of the customer routers used in the IPSec VPN
Tunnel.

D. Define a default route table entry for the VCN that directs all traffic to the data center network to a single DRG.
E. Create dynamic routing gateways in more than one AD within your region.
Correct Answer: ABC

https://docs.cloud.oracle.com/iaas/Content/Network/Tasks/configuringCPE.htm
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